

DETERMINATION TEMPERATURE OF A HEAT EQUATION FROM THE FINAL VALUE DATA

Tuan H. Nguyen*, Tri V. Phan, H. Vu and Hoa V. Ngo

Abstract. We introduce the truncation method for solving a backward heat conduction problem. For this method, we give the stability analysis with new error estimates. Meanwhile, we investigate the roles of regularization parameters in these two methods. These estimates prove that our method is effective.

1 Introduction

In this paper, we consider the problem of finding the temperature $u(x, t)$, $(x, t) \in (0, \pi) \times [0, T]$, such that

$$\begin{cases} u_{xx} = u_t, (x, t) \in (0, \pi) \times (0, T) \\ u(0, t) = u(\pi, t) = 0, t \in (0, T) \\ u(x, T) = g(x), (x, t) \in (0, \pi) \times (0, T) \end{cases} \quad (1.1)$$

where $g(x)$ is given. The problem is called the backward heat problem, the backward Cauchy problem, or the final value problem. As is known, the problem is severely ill-posed; i.e., solutions do not always exist, and in the case of existence, these do not depend continuously on the given data. Physically, g can only be measured, there will be measurement errors, and we would actually have as data some function $g^\epsilon \in L^2(0, \pi)$, for which $\|g^\epsilon - g\| \leq \epsilon$ where the constant $\epsilon > 0$ represents a bound on the measurement error, $\|\cdot\|$ denotes the L^2 -norm. Notice the reader that the problem (1.1) is investigated in some papers of Clark and Oppenheimer [2], Denche and Bessila [4], ChuLiFu [3, 6, 5] Tautenhahn[12], et al . The nonhomogeneous case of (1.1) has been considered by Trong et al in [9, 11]. However, in those paper, the error estimates are only established in logarithmic form, i.e.,

$$\|u(\cdot, t) - v^\epsilon(\cdot, t)\| \leq C_1 \frac{1}{\ln(\frac{1}{\epsilon^r})}, \quad r > 0. \quad (1.2)$$

Mathematics subject Classification 2010: 58K05; 35K99; 47J06; 47H10.

Keywords: Backward heat problem; Ill-posed problem; Homogeneous heat; Contraction principle.

Corresponding authors at Division of Applied Mathematics, Ton Duc Thang University.

<http://www.utgjiu.ro/math/sma>

Although there are many papers on the backward heat equation, but there are rarely works gave the error estimates in the Holder type i.e.,

$$\|u(., t) - v^\epsilon(., t)\| \leq C\epsilon^k, \quad k > 0. \quad (1.3)$$

where C is the constant depend on u , k is a constant is not depend on t, u . It is easy to see that ϵ^k converges to zero more quickly than the logarithmic terms. So, the major object of this paper is to provide truncation regularization method to established the Holder estimates such as (1.3). This type of method is also applied to solve the backward heat in the unbounded region (See [6]).

2 Error estimates with the main results

Suppose the Problem (1.1) has an exact solution

$$u \in C([0, T]; H_0^1(0, \pi)) \cap C^1((0, T); L^2(0, \pi)),$$

then u can be formulated in the frequency domain

$$u(x, t) = \sum_{m=1}^{\infty} e^{-(t-T)m^2} g_m \sin(mx) \quad (2.1)$$

where

$$g_m = \frac{2}{\pi} \int_0^\pi g(x) \sin(mx) dx,$$

and $\langle \cdot, \cdot \rangle$ is the inner product in $L^2(0, \pi)$.

From (2.1), we note that $e^{(T-t)m^2}$ tends to infinity as m tends to infinity, then in order to guarantee the convergence of solution u given by (2.1), the coefficient $\langle u, \sin mx \rangle$ must decay rapidly. Usually such a decay is not likely to occur for the measured data g^ϵ . Therefore, a natural way to obtain a stable approximation solution u is to eliminate the high frequencies and consider the solution u for $m < N$, where N is a positive integer. We define the truncation regularized solution as follows

$$u_N^\epsilon(x, t) = \sum_{m=1}^N e^{-(t-T)m^2} g_m \sin(mx) \quad (2.2)$$

and

$$v_N^\epsilon(x, t) = \sum_{m=1}^N e^{-(t-T)m^2} g_m^\epsilon \sin(mx) \quad (2.3)$$

where the positive integer N plays the role of the regularization parameter.

Definition 1. Let $0 < q < \infty$. By $H^q(0, \pi)$ we denote the space of all functions $g \in L^2(0, \pi)$ with the property

$$\sum_{m=1}^{\infty} (1 + m^2)^q |g_m|^2 < \infty,$$

where $g_m = \frac{2}{\pi} \int_0^\pi g(x) \sin(mx) dx$. We also define the norm of $H^q(0, \pi)$ as follows

$$\|g\|_{H^q(0,\pi)}^2 = \sum_{m=1}^{\infty} (1 + m^2)^q |g_m|^2.$$

Lemma 2. The problem (1.1) has a unique solution u if and only if

$$\sum_{m=1}^{\infty} e^{2Tm^2} g_m^2 < \infty. \tag{2.4}$$

Lemma 3. The solution u_N^ϵ given in (2.2) depends continuously on g in $L^2(0, \pi)$. Furthermore, we have

$$\|v_N^\epsilon(x, t) - u_N^\epsilon(x, t)\| \leq e^{(T-t)N^2} \epsilon.$$

Theorem 4. Assume that there exists the positive numbers A_1 such that $\|u(\cdot, 0)\|^2 \leq A_1$. Let us $N = [p]$ where $[.]$ denotes the largest integer part of a real number with

$$p = \sqrt{\frac{1}{T} \ln\left(\frac{1}{\epsilon}\right)},$$

then the following convergence estimate holds for every $t \in [0, T]$

$$\|v_N^\epsilon(x, t) - u(x, t)\| \leq (\sqrt{A_1} + 1) \epsilon^{\frac{t}{T}}. \tag{2.5}$$

Remark 5. From Theorem 4, we find that v_N^ϵ is an approximation of exact solution u . The approximation error depends continuously on the measurement error for fixed $0 < t \leq T$. However, as $t \rightarrow 0$ the accuracy of regularized solution becomes progressively lower. This is a common thing in the theory of ill-posed problems, if we do not have additional conditions on the smoothness of the solution. To retain the continuous dependence of the solution at $t = 0$, we introduce a stronger a priori assumption.

Theorem 6. Assume that there exists the positive numbers q, A_2 such that

$$\|u(\cdot, t)\|_{H^q(0,\pi)} < A_2.$$

Let us $N = [p]$ where $[.]$ denotes the largest integer part of a real number with

$$p = \sqrt{\frac{1}{T + \alpha} \ln\left(\frac{1}{\epsilon}\right)}$$

for $k > 0$. Then the following convergence estimate holds

$$\|v_N^\epsilon(x, t) - u(x, t)\| \leq A_2 \left(\frac{1}{T + \alpha} \ln\left(\frac{1}{\epsilon}\right) \right)^{-\frac{q}{2}} + \epsilon^{\frac{t+\alpha}{T+\alpha}}. \quad (2.6)$$

for every $t \in [0, T]$.

Remark 7. 1. Denche and Bessila in [4], Trong and his group [8, 9, 11] gave the error estimates in the form

$$\|v^\epsilon(., t) - u(., t)\| \leq \frac{C_1}{1 + \ln \frac{T}{\epsilon}}. \quad (2.7)$$

In recently, Chu-Li Fu and his coauthors [3, 5, 6] gave the error estimates as follows

$$\|v^{\epsilon, \delta}(\cdot) - u(\cdot)\| \leq \frac{\delta}{2\sqrt{\epsilon}} + \max\left\{\left(\frac{4T}{\ln \frac{1}{\epsilon}}\right)^{\frac{p}{2}}, \epsilon^{\frac{1}{2}}\right\}. \quad (2.8)$$

If $q = 2$, the error (2.6) is the same order as these above results.

2. Notice that the first term of the right hand side of (2.6) is the logarithmic form, and the second term is a power, so the order of (2.6) is also logarithmic order. Suppose that $E_\epsilon = \|v^\epsilon - u\|$ be the error of the exact solution and the approximate solution. In most of results concerning the backward heat, then optimal error between is of the logarithmic form. It means that

$$E_\epsilon \leq C \left(\ln \frac{T}{\epsilon} \right)^{-q}$$

where $q > 0$. The error order of logarithmic form is investigated in many recent papers, such as [2, 3, 4, 5, 6, 7, 8, 9, 10, 11]. This often occurs in the boundary error estimate for ill-posed problems. To retain the Holder order in $[0, T]$, we introduce the following Theorem with different priori assumption.

Theorem 8. Assume that there exists the positive numbers β, A_3 such that

$$\frac{\pi}{2} \sum_{m=1}^{\infty} e^{2\beta m^2} u_m^2(t) < A_3^2. \quad (2.9)$$

Let us $N = [p]$ where $[.]$ denotes the largest integer part of a real number with

$$p = \sqrt{\frac{1}{T + \beta} \ln\left(\frac{1}{\epsilon}\right)}$$

then the following convergence estimate holds

$$\|v_N^\epsilon(x, t) - u(x, t)\| \leq \left(A_3 + \epsilon^{\frac{t}{T+\beta}}\right) \epsilon^{\frac{\beta}{T+\beta}}. \tag{2.10}$$

for every $t \in [0, T]$.

Remark 9. 1. The condition (2.9) is not verifiable. Hence, we can check it by replacing the conditions of f and g . Thus, we have

$$\sum_{m=1}^{\infty} e^{2\beta m^2} u_m^2(t) = \sum_{m=1}^{\infty} e^{2\beta m^2} e^{-2(t-T)m^2} g_m^2.$$

Hence, we can replace (2.9) by the different condition

$$\sum_{m=1}^{\infty} e^{2(T+\beta)m^2} g_m^2 < \infty.$$

2. Notice the reader that the error (2.10) ($\beta > 0$) is the order of Holder type for all $t \in [0, T]$. It is easy to see that the convergence rate of ϵ^p , ($0 < p$) is more quickly than the logarithmic order $(\ln(\frac{1}{\epsilon}))^{-q}$ ($q > 0$) when $\epsilon \rightarrow 0$. Comparing (2.10) with the results in [2, 3, 4, 5, 6] and our recent results in *Electronic Journal of Differential*, we can see that the method in the present paper gives the better approximation. This proves that our method is effective.

3 Proof of the main results

Proof of Lemma 2

Proof. Suppose the Problem (1.1) has an exact solution $u \in C([0, T]; H_0^1(0, \pi)) \cap C^1((0, T); L^2(0, \pi))$, then u can be formulated in the frequency domain

$$u(x, t) = \sum_{m=1}^{\infty} e^{-(t-T)m^2} g_m \sin(mx). \tag{3.1}$$

This implies that

$$u_m(0) = e^{Tm^2} g_m. \tag{3.2}$$

Then

$$\|u(\cdot, 0)\|^2 = \sum_{m=1}^{\infty} e^{2Tm^2} g_m^2 < \infty.$$

If we get (2.4), then define $v(x)$ be as the function

$$v(x) = \sum_{m=1}^{\infty} e^{Tm^2} g_m \sin mx \in L^2(0, \pi).$$

Consider the problem

$$\begin{cases} u_t - u_{xx} = 0, \\ u(0, t) = u(\pi, t) = 0, \quad t \in (0, T) \\ u(x, 0) = v(x), \quad x \in (0, \pi) \end{cases} \quad (3.3)$$

It is clear to see that (3.3) is the direct problem so it has a unique solution u . We have

$$u(x, t) = \sum_{m=1}^{\infty} e^{-tm^2} < v(x), \sin mx > \sin mx \quad (3.4)$$

Let $t = T$ in (3.4), we have

$$\begin{aligned} u(x, T) &= \sum_{m=1}^{\infty} e^{-Tm^2} e^{Tm^2} g_m \sin mx \\ &= \sum_{m=1}^{\infty} g_m \sin mx = g(x). \end{aligned}$$

Hence, u is the unique solution of (1.1). □

Proof of Lemma 3

Proof. Let u_N^ϵ and w_N^ϵ be two solutions of (2.2) corresponding to the final values g and h . From (2.2), we have

$$u_N^\epsilon(x, t) = \sum_{m=1}^N e^{-(t-T)m^2} g_m \sin(mx) \quad 0 \leq t \leq T, \quad (3.5)$$

$$w_N^\epsilon(x, t) = \sum_{m=1}^N e^{-(t-T)m^2} h_m \sin(mx) \quad 0 \leq t \leq T, \quad (3.6)$$

where

$$g_m = \frac{2}{\pi} \int_0^\pi g(x) \sin(mx) dx, \quad h_m = \frac{2}{\pi} \int_0^\pi h(x) \sin(mx) dx.$$

This follows that

$$\begin{aligned} \|u_N^\epsilon(\cdot, t) - w_N^\epsilon(\cdot, t)\|^2 &= \frac{\pi}{2} \sum_{m=1}^N \left| e^{(T-t)m^2} (g_m - h_m) \right|^2 \\ &\leq \frac{\pi}{2} e^{2(T-t)N^2} \sum_{m=1}^N |g_m - h_m|^2 \\ &\leq e^{2(T-t)N^2} \|g - h\|^2. \end{aligned} \tag{3.7}$$

Hence

$$\|u_N^\epsilon(\cdot, t) - w_N^\epsilon(\cdot, t)\| \leq e^{(T-t)N^2} \|g - h\|. \tag{3.8}$$

This completes the proof theorem.

Since (3.8) and the condition $\|g^\epsilon - g\| \leq \epsilon$, we have

$$\|v_N^\epsilon(x, t) - u_N^\epsilon(x, t)\| \leq e^{(T-t)N^2} \epsilon. \tag{3.9}$$

□

Proof of Theorem 4

Proof. Since (2.2), we have

$$\begin{aligned} u(x, t) - u_N^\epsilon(x, t) &= \sum_{m=N}^\infty e^{-(t-T)m^2} g_m \sin(mx) \\ &= \sum_{m=N}^\infty \langle u(x, t), \sin mx \rangle \sin mx. \end{aligned}$$

Thus, using the inequality $(a + b)^2 \leq 2(a^2 + b^2)$ and Holder inequality, we have

$$\begin{aligned} \|u(\cdot, t) - u_N^\epsilon(\cdot, t)\|^2 &= \frac{\pi}{2} \sum_{m=N}^\infty e^{-2(t-T)m^2} g_m^2 \\ &= \frac{\pi}{2} \sum_{m=N}^\infty e^{-2tm^2} u_m^2(0) \\ &\leq e^{-2tN^2} \|u(\cdot, 0)\|^2 \\ &\leq e^{-2tN^2} A_1. \end{aligned} \tag{3.10}$$

Combining (3.9) and (3.10) then

$$\begin{aligned} \|v_N^\epsilon(x, t) - u(x, t)\| &\leq \|v_N^\epsilon(\cdot, t) - u_N(\cdot, t)\| + \|u_N(\cdot, t) - u(\cdot, t)\| \\ &\leq e^{-tN^2} \sqrt{A_1} + e^{(T-t)N^2} \epsilon. \end{aligned}$$

From

$$N = \sqrt{\frac{1}{T} \ln\left(\frac{1}{\epsilon}\right)}$$

then the following convergence estimate holds

$$\|v_N^\epsilon(x, t) - u(x, t)\| \leq \epsilon^{\frac{t}{T}} \left(\sqrt{A_1} + 1 \right).$$

□

Proof of Theorem 6

Proof. Since (2.2), we have

$$\begin{aligned} u(x, t) - u_N^\epsilon(x, t) &= \sum_{m=N}^{\infty} e^{-(t-T)m^2} g_m \sin(mx) \\ &= \sum_{m=N}^{\infty} \langle u(x, t), \sin mx \rangle \sin mx. \end{aligned}$$

Thus, we have

$$\begin{aligned} \|u(\cdot, t) - u_N^\epsilon(\cdot, t)\|^2 &= \frac{\pi}{2} \sum_{m=N}^{\infty} m^{-2q} m^{2q} u_m^2(t) \\ &\leq N^{-2q} \frac{\pi}{2} \sum_{m=1}^{\infty} m^{2q} u_m^2(t) \\ &\leq N^{-2q} \frac{\pi}{2} \sum_{m=1}^{\infty} (1 + m^2)^q u_m^2(t) \\ &\leq N^{-2q} \frac{\pi}{2} A_2^2. \end{aligned} \tag{3.11}$$

Combining (3.9) and (3.11) then

$$\begin{aligned} \|v_N^\epsilon(x, t) - u(x, t)\| &\leq \|v_N^\epsilon(\cdot, t) - u_N(\cdot, t)\| + \|u_N(\cdot, t) - u(\cdot, t)\| \\ &\leq N^{-q} A_2 + e^{(T-t)N^2} \epsilon. \end{aligned}$$

From

$$N = \sqrt{\frac{1}{T + \alpha} \ln\left(\frac{1}{\epsilon}\right)}$$

then the following convergence estimate holds

$$\|v_N^\epsilon(x, t) - u(x, t)\| \leq \left(\frac{1}{T + \alpha} \ln\left(\frac{1}{\epsilon}\right)\right)^{-\frac{q}{2}} A_2 + \epsilon^{\frac{t+\alpha}{T+\alpha}}.$$

□

Proof of Theorem 8

Proof. Since (2.2), we have

$$\begin{aligned} u(x, t) - u_N^\epsilon(x, t) &= \sum_{m=N}^{\infty} e^{-(t-T)m^2} g_m \sin(mx) \\ &= \sum_{m=N}^{\infty} \langle u(x, t), \sin mx \rangle \sin mx. \end{aligned}$$

Thus, we have

$$\begin{aligned} \|u(\cdot, t) - u_N^\epsilon(\cdot, t)\|^2 &= \frac{\pi}{2} \sum_{m=N}^{\infty} e^{-2\beta m^2} e^{2\beta m^2} u_m^2(t) \\ &\leq \frac{\pi}{2} e^{-2\beta N^2} \sum_{m=N}^{\infty} e^{2\beta m^2} u_m^2(t) \\ &\leq \frac{\pi}{2} e^{-2\beta N^2} \sum_{m=1}^{\infty} e^{2\beta m^2} u_m^2(t) \leq e^{-2\beta N^2} A_3^2. \end{aligned} \tag{3.12}$$

Combining (3.9) and (3.12), we get

$$\begin{aligned} \|v_N^\epsilon(x, t) - u(x, t)\| &\leq \|v_N^\epsilon(\cdot, t) - u_N(\cdot, t)\| + \|u_N(\cdot, t) - u(\cdot, t)\| \\ &\leq e^{-\beta N^2} A_3 + e^{(T-t)N^2} \epsilon. \end{aligned}$$

From

$$N = \left\lceil \sqrt{\frac{1}{T + \beta} \ln\left(\frac{1}{\epsilon}\right)} \right\rceil$$

then the following convergence estimate holds

$$\|v_N^\epsilon(x, t) - u(x, t)\| \leq \epsilon^{\frac{\beta}{T+\beta}} A_3 + \epsilon^{\frac{t+\beta}{T+\beta}} = \epsilon^{\frac{\beta}{T+\beta}} \left(A_3 + \epsilon^{\frac{t}{T+\beta}} \right).$$

□

References

- [1] K. A. Ames and L. E. Payne, *Continuous dependence on modeling for some well-posed perturbations of the backward heat equation*, J. Inequal. Appl., Vol. **3** (1999), 51-64. [MR1731669\(2000m:35175\)](#). [Zbl 0928.35015](#).
- [2] G. W. Clark and S. F. Oppenheimer, *Quasireversibility methods for non-well posed problems*, Elect. J. Diff. Eqns., **1994** (1994), No. 8, 1-9. [MR1302574\(96a:34123\)](#). [Zbl 0811.35157](#).
- [3] Chu-Li Fu , Zhi Qian and Rui Shi, *A modified method for a backward heat conduction problem*, Applied Mathematics and Computation, **185** (2007), 564-573. [MR2297827](#). [Zbl 1112.65090](#).
- [4] M. Denche and K. Bessila, *A modified quasi-boundary value method for ill-posed problems*, J. Math. Anal. Appl, **301** (2005), 419-426. [MR2105682\(2005i:34071\)](#). [Zbl 1140.34397](#).
- [5] Xiao-Li Feng, Zhi Qian and Chu-Li Fu, *Numerical approximation of solution of nonhomogeneous backward heat conduction problem in bounded region*. Math. Comput. Simulation **79** (2008), No. 2, 177-188. [MR2456518\(2009m:35529\)](#). [Zbl 1166.65048](#).
- [6] Chu-Li Fu, Xiang-Tuan Xiong and Zhi Qian, *Fourier regularization for a backward heat equation*. J. Math. Anal. Appl. **331** (2007), No. 1, 472-480. [MR2306017\(2008c:35332\)](#). [Zbl 1146.35420](#).
- [7] D. D. Trong and N. H. Tuan, *Regularization and error estimates for nonhomogeneous backward heat problems*, Electron. J. Diff. Eqns., **2006** (2006), No. 04, 1-10. [MR2198917\(2006h:35276\)](#). [Zbl 1091.35114](#).
- [8] D. D. Trong, P. H. Quan, T. V. Khanh, and N. H. Tuan, *A nonlinear case of the 1-D backward heat problem: Regularization and error estimate*, Zeitschrift Analysis und ihre Anwendungen, **26** (2007), Issue 2, 231-245. [MR2314164\(2009a:35115\)](#). [Zbl pre05202594](#).
- [9] Dang Duc Trong and Nguyen Huy Tuan, *A nonhomogeneous backward heat problem: Regularization and error estimates*, Electron. J. Diff. Eqns., **2008** (2008), No. 33, 1-14. [MR2383396\(2008k:35207\)](#). [Zbl 1171.35488](#).
- [10] Dang Duc Trong and Nguyen Huy Tuan, *Regularization and error estimate for the nonlinear backward heat problem using a method of integral equation*, Nonlinear Anal., **71** (2009), Issue 9, 4167-4176. [MR2536322\(2010h:65143\)](#). [Zbl 1172.35517](#).

- [11] Nguyen Huy Tuan and Dang Duc Trong, *A new regularized method for two dimensional nonhomogeneous backward heat problem* Appl. Math. Comput. **215** (2009), Issue 3, 873-880. [MR2568944](#). [Zbl 1180.65119](#).
- [12] T. Schroter and U. Tautenhahn, *On optimal regularization methods for the backward heat equation* Z. Anal. Anw. **15** (1996) 475493. [MR1394439\(97c:65157\)](#). [Zbl 0848.65044](#).

Tuan H. Nguyen

Division of Applied Mathematics,
Ton Duc Thang University,
Nguyen Huu Tho Street, District 7,
Hochiminh City, Vietnam.
e-mail: tuanhuy_bs@yahoo.com

Tri V. Phan

Division of Applied Mathematics,
Ton Duc Thang University,
Nguyen Huu Tho Street, District 7,
Hochiminh City, Vietnam.
e-mail: phanvantri82@gmail.com

Hoa V. Ngo

Division of Applied Mathematics,
Ton Duc Thang University,
Nguyen Huu Tho Street, District 7,
Hochiminh City, Vietnam.
n.v.hoamath@gmail.com

H. Vu

Division of Applied Mathematics,
Ton Duc Thang University,
Nguyen Huu Tho Street, District 7,
Hochiminh City, Vietnam.
e-mail: hovumath@gmail.com
